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Marks

The nickel(11) ion exists as the [Ni(OH.)s]** complex ion in agqueous solution. Define 4

the term complex.

A complex is a species that consists of a centraktal ion which acts as a Lewis
acid surrounded by a number of ligands that act akewis bases. The charge on
the complex may be positive, negative or neutral gending on the charge on the
cation and the number and charge of all the ligands

What is the name of this complex ion?

hexaaquanickel(ll) ion

Why is such a solution acidic?

H,0O donates a lone pair to form a coordinate bond tdli**. The pull of the cation
on these electrons weakens the O—H bonds as the gag has to pull electron
density form these bonds.

Write a balanced equation for the corresponding reaction.

[Ni(OH2)g]*" + H:O == [Ni(OH2)sOH]"* + HsO"




